/1/0 C»ébv\?'«J qLL\,uovau—

$~,f/70g,e we  have o 'lma(SICo\,” apcro'w[‘or' (23

w ek Yo lea oxuwy stade do  be v eroced 7 1o
and  opverd i Th oA given clona g

the iapet o
Gy [W>le> = [P>1e> Wide Fhad
VP & vu..i{
c 4o weep
<) | Y >le> > WS ¥YS npul or SemPlhk

ﬂ/c\q/ [@VLS c_a/m/&-pl(

A

L + @)~ LIP>IP> + g IV>I¥> (1)
Lrom odher hoaud N o

(L 1P> +RIY>)|e> —~> (.,(h’> +p}\l’>)(oll\€>+,?(\l'>)

= LTI =@ YIS A
.<~;s(h°>;w§ +1¥> (P> ) (2)



a»‘*“'% RHS °_f &7.4 1S o+ 7LLJL Saame & f

RHS of e7.2 ) Co we arrive Ho
the condradiction /

> C(/Oh?“d | S "MF“S';/ZQ ,n '\é:‘“-u‘\/ cale

_H\}g hat  an .‘mpar-‘mvl Fmp"-cn-l’.om:

SLwr:-ly qu quaM-LuM C«OWMU\V\:QO\‘L:DM '
Q}MC—Q joo\ LO\MMO—/ QVQSQ’fOP /reMO\/e SJGLJCS'
£rom  « chaune) | clone , aund

do  mMeasavemepls oun clones wuadidkoded
Nole +had —k/[e,POfVL?“ s possible and
wa¢ demonsdrafed wilh " phodors -
IP>le> T (oS I1P>




